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UNIVERSITY OF NORTH BENGAL
B.A. 1st Semester Examination, 2022

ENVIRONMENTAL STUDIES

AECC-1
Time Allotted: 2 Hours 30 minutes Full Marks: 80

The questions are of equal value.
The figures in the margin indicate full marks.

[ Instruction ]

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O@ O O Wrong Method: ¥ G ® @

Answer all the questions / ¥ Y391 & IR QIFoTT / 1x80 = 80
AIFD AT TEA WS / HI YTATHHT IR el

Choose the correct option / &1 fdded gy / 715w Seal® v +4/ W8 fabea wEgEN
1. Who is known as ‘Waterman of India’?

(A) Anna Hazare (B) Rajendra Singh ~ (C) M.S. Swaminathan (D) Subhash Dutta
‘qrex 79 off s 3fear & AW ¥ fw S S € ?

(A) 3T EOIR (B) Wi g (C) THo THo W@MARM (D) g9y &=
‘Waterman of India’ It #I&foe® &0 2ee —
(A) el I (B) Alte B (C) @¥. @, FAIAT (D) YT 7€
FHHATS AR {9 A 3fear 9K R s ?
(A) 3T BN (B) Woi g (C) THo THo W@MMRM (D) g9y &=
2. ‘Black Foot’ disease is caused by —
(A) SPM (B) Cadmium (C) Arsenic (D) Fluorine
% He' T BT FRIT § —
(A) SPM (B) dheAHA (C) IRA®H (D) TR
‘Black Foot’ 1963 &y wiT 2e1 —
(A) SPM (B) IR (C) wicifee (D) e
M6 {e' AT AR BRI g —
(A) SPM (B) dsfaH (C) IRA®H (D) FaIRA
3. Maximum amount of gas found in air is —
(A) Oxygen (B) Carbon-di-oxide (C) Nitrogen (D) Ozone
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g1 H 99 A T R el © —

INKIENISE] (B) BTEH-STS-3MHATSS (C) ATSEIo (D) 3MSi
eI TR @ 2iea A —

(A) SIS (B) FIFI-TIZ-S@ET  (C) MBS (D) ST&
BIATAT STEhad UTg T —

(A) 3TRATSTH (B) BTEH-ST8-3TTZS (C) ATSEIo (D) 3N
Ganga Action Plan in India was launched in the year —

(A) 1988 (B) 1986 (C) 1980 (D) 1978

T YA I AR | Y[ [ I o —

(A) 1988 (B) 1986 (C) 1980 (D) 1978

GICO ‘o SIPH Z Ble] 2 PO AT —

(A) St (B) Sobr (C) svb0 (D) Sab
ARTAT TEIT Yo & g 9U! a9 ORr —

(A) 1988 (B) 1986 (C) 1980 (D) 1978

The ecological Pyramid that is always upright —

(A) Pyramid of energy (B) Pyramid of Biomass

(C) Pyramid of number (D) None of these

qiRRerfaed IR i1 gHem e I&ar g —

(A) o1l &1 foRifrs (B) 519 AT &1 fORIAS

(C) I &1 fiRifs (D) §TH | @13 &l

o @ PaIfie sl s —

(A) *ifez fPrifie (B) @etaR PRI (C) ;7 Prifie (D) IS 7
qiRRerfas iR ST A<d SISl I8 T —

INEEIEIRERIES (B) g AT fRIfie

(C) weE favifie (D) B uf &g

Ramsar convention is related to —

(A) Desert (B) Wetlands (C) Agricultural lands (D) Forest lands
AR A ¥ AT & —

(A) T (B) s fA (©) Py A (D) o A
AT SR @D L IS 9

(A) TG (B) &gl (C) P (D) I FRHCe A
AR AR Fd © —

(A) T (B) s fA (C) pffa (D) T1fA

The main component of ‘Biogas’ is —

(A) Nitrogen (B) Oxygen (C) Methane (D) Carbon-di-oxide
TRINN T 1 3aId © —

(A) TEEIST (B) ST

(C) Hier= (D) BTEH-SR-NTASS

&R IR 3T vl 2e] —

(A) iZCaICEs (B) SIS (C) fSeas (D) FIEI-Tiz-HZT
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TRIFI ST J= 3aId B —

(A) TSSO

(C) fag

The causes of biodiversity loss is —
(A) Habital loss

(C) Over-exploitation of resources

S fAfqear & JH9M & HRT § —

(B) 3raISTH
(D) HE-SR-3TATS S

(B) Poaching of Wildlife
(D) All of these

(A) UTHIId I BT JHaH (B) =1 SIg &7 31de RIBR

(C) AT 7 S1fey qred (D) 37H | 9

QIR R el 2o —

(A) IPTEICTR 2 (B) I 2o

(C) IR F=I(wd Sofifa 2T (D) €Td SRS 03

Sig ffderdr —arg 81 =S PRI g —

(A) Ui araaT & (B) =1 Siiad! RreR

(C) A1 FARFE®ST 3ffd &y (D) I S+

‘The Environment Protection Act’ was introduced in India in —

(A) 1980 (B) 1986 (C) 2001 (D) 2010
ARG H OIiaRoT AReAT A T fhar T o —

(A) 1980 (B) 1986 (C) 2001 (D) 2010
SIS ‘AR ] T 2w & @ AT —

(A) Sob0 (B) Sty (C) 200% (D) R0%0
TRTAT “TITIROT FRE0T AT Goard TRYwY af Ry —

(A) 1980 (B) 1986 (C) 2001 (D) 2010
‘Silent Valley’ lies in the state of —

(A) Bihar (B) Kerala (C) Tamil Nadu (D) Goa
Argoi< deil’ Ioa & Rerg g —

(A) faEr (B) el (C) afferTg (D) TMar
TS AT (T ST HAHS —

(A) 2= (B) e (C) wifiErig (D) ot
Hgele Hooll Rerd 9 g —

(A) faEr (B) el (C) afferTg (D) TMar
Minamata disease is associated with —

(A) SO, (B) Mercury (C) NO, (D) Arsenic
AT T AT ® —

(A) SO, (B) FRa&RI (C) NO, (D) MR¥TEH
“Famior el @fba e e —

(A) SO, (B) #m (C) NO, (D) S
AT INTRIT FHd B —

(A) SO, (B) TRE (C) NO, (D) IRAM®H
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12.  The intensity of Earthquake is measured in —

(A) Decibels (B) Linnean Scale (C) Richter Scale (D) Linear Scale
qevg Y e A e -
(A) S¥Ee (B) féifHiar wbel (C) Reer w@al (D) N RIR wbel
RRPCIa Sigel M R —
(A) (GHRE (B) forferw cz=1 (C) f4oi= czet (D) Terferniz cza1
YHHID! el AT TR —
(A) ST (B) fafeM w&a (C) Raex Wt (D) faf R w@d
13.  Which gas is emitted in Bhopal Gas Tragedy?
(A) LPG (B) MIC (C) NO, (D) SO,
WiqTer A7 AR F B A A I g & 2
(A) LPG (B) MIC (C) NO, (D) SO,
SN 91T TG I 7T fovofe 2t ¢
(A) LPG (B) MIC (C) NO, (D) SO,
WIS TIRT AT Al Gl RIS UDT 8 —
(A) LPG (B) MIC (C) NO, (D) SO,
14.  Which of the following is not a method of water conservation?
(A) Rain water harvesting (B) Ground water extraction
(C) Improving irrigation efficiency (D) Avoiding water wastage
frfaRad # 4 o9 a1 STt HRevT BT aher T8 7 ?
(A) a8t ST =T (B) 5Tt T-spyoT
(C) =g <eadm ¥ g (D) U &I qaial | 2T
e @I ST IRTHEIR Aaho 97—

(A) 3B e (B) ©oreZ & f@ig  (C) CH IR 8w (D) & W58 @l
FfaRad A& gaIfs STl HReTuThT ATl SUIRN qRST Blg—+ —

INELIBSERSERE! (B) ¥-5Tt foreepyoy
(C) Rf=rms &A1 JgurR (D) STd gaIIETe g9T3
15.  Red Data Book provides data on —
(A) Red flowered plants (B) Red coloured fishes
(C) List of plants and animals (D) Endangered plants and animals
NS Sl gé’" (Red Data Book) ST UG el & —
(A) T T & el & Ui (B) &t 37 @1 Hosferdi
(C) US Td SIFeRl &1 =l (D) JEUTT UIer IR SR
(1 ©i5I 3% (Red Data Book) @ R0 ©2 (3 —
(A) 71T 2o Tfgn (B) &ie1 063 W2
(C) Sfew @ &i&ficea A= (D) Reiwiere Tfgw ¢ el
€ ST g’ -0l SFaRI & T8 —
(A) XTIl DT BTl gl (B) [T TR ATSTED
(C) g A ugesadt = (D) JWIT: gfcre® X UYe®
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16.  Energy flow in ecosystem is —
(A) Unidirectional (B) Bidirectional (C) Multidirectional (D) None of these
uiRRerfos a5 § St yarfea 8t 8 —

(A) feemé (B) fafewr

(C) faf= fawr (D) 3TH | @13 I T8l

AEOCE *&e T2 —

(A) 933 (B) a2t (C) I (D) qU7d (102 7

TTRRefE ToTeAT ST waRd g TS —

(A) feemém (B) fgfeem (C) Tgfaem (D) B ufy B
17.  An example of In-situ conservation is —

(A) Gene Bank (B) National Parks (C) Zoo (D) Botanical garden

TRATAT TRETT BT U IETERVT & —

(A) STH 9% (B) IR 4T (C) Fafgarer (D) IS Se

‘In-situ’ FRFT-7 Gl 2o —

(A) T = (B) &SI Tyl (C) Fofemarm (D) Tfew Twji

TIRTHT A&7 (In-situ conservation) T UICT &80T I —

(A) 59 d% (B) T U (C) Fafsaram T (D) IYfd FE
18.  The ‘Earth Summit’ was held in the year —

(A) 1992 (B) 1990 (C) 1989 (D) 2001

ARads RRIR AT gafl o —

(A) 1992 (B) 1990 (C) 1989 (D) 2001

Al F09ET (Earth Summit) (I I208 S5 27 ¢

(A) SR (B) sax0 (C)Sdbd (D) 00>

ARadh RRER IR 9udT 99 =T —

(A) 1992 (B) 1990 (C) 1989 (D) 2001

19.  Identify the correctly matched pair —
(A) Basel convention — Biodiversity Conservation
(B) Kyoto Protocol — Climate Change
(C) Montreal Protocol — Global Warming

(D) Ramsar Convention — Groundwater Pollution

|E e @ T et Bl ygEny —

(A) S HdeTF—oig fafderar axeror (B) RICT UIeidlad—Sietdry] uiRad=
(C) Hifvgael UIeidia—Tellgal arfiT (D) YHER B e—Yolel TquoT
HIF AL JAF ANGhae! I —

(A) I FCFET — &I (Afbay F7=el (B) RFieH! wfere — wiamyant »fies
(C) WG wiover — e Taerw (D) A FCAET — GISE Ter Wl
wold el SRl g —

(A) S HT=a—oia fafderar dReor (B) RIICT Ueidha—siadrg, gRac
(C) AI~gad UIeidhd—Tdidd dIifis (D) IMAR B =TA—H[HT TGyl
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20.  Ecosystem consist of —
(A) Producer (B) Consumer (C) Decomposer (D) All of these
urRRerfarest a5 & ffed grar & —
(A) STTEH (B) SUHTaT (C) JUecdH (D) 37 | 9
ArEeE oo 8 —
(A) T (B) ¥ (C) e (D) 7R
TR T=HT FHAY B —
(A) STTEH (B) STHTaT (C) JUecdH (D) I o

21.  Ecotone is characterised by —
(A) Forest ecosystem (B) Transition zone between two ecosystem
(C) Terrestrial ecosystem (D) Zone of transition between Water and Land
gPpIe B fagwar & —
(A) 9 uTRRefa! aF (B) <1 uikRerfarat a3 @ d1a GhHAvT &=
(C) ety utRRerfaa! a3 (D) 5T 3R qH & dra AHHIHT &
5T fofzrs vtz —
(A) I¥ESCE (B) 4 SREHEE SIcaela Brefamie sieea
(C) =TT g (D) &1 @ SR TCIFIR Fifemie Sees
'THICH HT faemar gq —
(A) T9-uTRRerfadT = (B) 3 UIRReI®! a1 9= HhHA &
(C) %ereiig utRRefde! T (D) 5Tt I ¥ o= AsshAvT &=

22.  Animals living at the bottom of the sea are called —
(A) Lotic (B) Lentic (C) Benthic (D) Pelagic
& @ T W e dTel SI1d Bl e & —
(A) difcd (B) oFfe® (C) A& (D) Uerfird
FCHE SETCH PRI NN Jett =7 —
(A) oS (B) @If%F (C) @iz (D) oeTifer
&I T Sdelrg 9o —
(A) FIfed (B) oHfe® (C) A& (D) Uerfird

23.  The Wildlife Protection Act was passed in —
(A) 1952 (B) 1955 (C) 1972 (D) 1982
T Sig SfferfE qike gor or —
(A) 1952 (B) 1955 (C) 1972 (D) 1982
AT I WS A 2T —
(A) Sp@_ (B) Saee (C) 593 (D) Sob3
T Siiae sifdferw wiRa wuar af Ry —
(A) 1952 (B) 1955 (C) 1972 (D) 1982

24. MAB Stands for —
(A) Man and Biology Programme (B) Mammals and Biology Programme
(C) Mammals and Biospheres (D) Man and Biospheres
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MAB &7 31ef & —

(A) 99 AR T HrRIHA (B) WHYIR IR afd HRIishH

(C) TR 3R SiaHTSd (D) A9 3R SigHvsd

MAB-&3 91g 7&7 —

(A) TR ¢ GRIE@I (@iars (B) ST 2lfft @k GiRiResi el

(C) BHT @R GIANes (D) ¥ @R ACFFI c@as

MAB &7 31 g6 —

(A) 993 AT SHAfI=~d HRIHH (B) =AY A1 Siafasnfe drdsd
(C) WUy A SlaAvS (D) A9 A STaHvSe

Which wavelength of ultra-violet light of sunlight combine with Ozone molecule?

(A) Ultraviolet-A (B) Ultraviolet-C (C) Ultraviolet-B (D) None of these
I B UBRT & R YD B DI A AT <& S A0dD & APl Hefd! © ?
(A) TRTTI-A (B) GRTETHI-C (C) WRITHI-B (D) §7H | @13 &l

SR UV SR (i eamend) eaie s e fufere 231 ¢
(A) TEOREE-A  (B) IGEEIES-C  (C) AGOREE-B (D) GICAbE &
GIDT YHTDBT URTSTT GDHIIBT e AREI 3Gl SMUMAHRIT GAHd 576 ?

(A) TRTTI-A (B) GRTETHI-C (C) WRITHI-B (D) §1 9+ BIgA
Which is the most common gas released from the landfills?

(A) Carbon monoxide (B) Methane (C) Hydrogen Sulphide (D) Carbon dioxide
TSl B WRs A Ahe Ireh Fad 3mF 39 di 9 2 ?

(A) T AFRITRTES (B) #ig 9

(C) TSN ATHISS (D) HE-SR-3ifgS

FISTRET (AT FRCECR A @i a1 fefs =31 9

(A) T AT (B) fiaw (C) AT AFFIZG (D) I TEAHZC
Grg vRYSD! SSdIC Fh ARIRY U G 8l ?

(A) FTEA-AFIRIATS S (B) f4e=

(C) TSN ATHISS (D) HE-SR-3TATS S

Increase in atmospheric temperature due to CO, is called —

(A) Pasteur effect (B) Greenhouse effect (C) Emerson effect (D) Blackman effect
CO, & BRI qrgHeed araae H gfg & Fed & —

(A) TR 9T (B) gRdIE g9 (C) S y¥ra (D) @IHHT 9
CO, -3 &) IS S et 0T —

(A) 78T GFS (B) §9=ISH «(F 3 (C) 7 G (D) TEIH TS
CO, & BRI JIFAVSHAT d¢ TNDI ATTHAATS AT —

(A) UTSTR 94TE (B) ERdIE g9 (C) SHEA Uy9E (D) ©IHHT T
Taj Mahal is threatened to the effect of —

(A) Chlorine (B) Sulphur dioxide  (C) Oxygen (D) Hydrogen
dISTHge Bl WAl & —

(A) FANIT (B) TeRRIb- T3-S

(C) ST (D) ETgSIoT

7 Turn Over
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wEge delfe 37—

(A) @I (B) MerPR-BE-SZT  (C) Sf3He (D) RiZCEICe
CII\riHScdcdls'gc YdXThl YA B —

(A) TR (B) HewRRS STE IAa¥ES

(C) FaATST (D) BTEgIoT

Typhoid, Cholera and Dysentery are diseases that are spread by —

(A) Air pollution
(C) Land/Soil pollution

ISR, B9l 3R Uferer I & Sl Held & —

(B) Water pollution

(D) The use of Pesticides

(A) a1g T (B) STt g

(C) 4% / Tl ygmor (D) BISHTIBT Bl STAT

DBIZTFCAC, ST, SRR R (e =i 21t Fiew el ¢

(A) Rz (B) STl

(C) el n3el (D) FoaF IR

ClgWlgs, oVl I IEGTATSTA XMTex helgHl —

(A) arg TgHoT (B) STt WgHoT

(C) qf% /#1eT ugyor (D) fheTTerdhen! gANT

Biodegradable pollutant is —

(A) Plastic (B) Sewage (C) Asbestos (D) All of these
g e uges & —

(A) ©RED (B) 7 (C) 3rcE (D) 37H | 9
AT 7T 25 —

(A) 25 (B) (&G Sl (C) SOPTHGH (D) FRefe

g RO Ugy® g —

(A) WD (B) Hal (C) 3re® (D) &

DDT is —

(A) Carbamate (B) Organochlorine  (C) Triazine (D) Organophosphates
DDT & —

(A) BEHE I ENEIESING] (C) feanfo= (D) 3T BRwe
DDT &1 —

(A) B (B) SRANCICEIEe (C) Trfem (D) SRAATINCTO
DDT &1 —

(A) BEHE (B) 3RTAT FAIRA (C) feafo= (D) 3Rl e
Eutrophication is found in —

(A) Agricultural Land (B) Saline Soil (C) Lake (D) Mountain
JUTYOT YT ST & —

(A) DY A (B) @ fiee (C) i (D) uETS
FECRIRFCEI 2 A/ —

(A) FRET© T (B) e e () (D) *fe
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34.

35.

36.

37.
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JuUIvoT UIgTS —

(A) DY A (B) gfrer e (C) i
Phytoplankton are —

(A) Saprotrophs (B) Autotrophs (C) Heterotrophs
ISy wladh 8 —

(A) FasidT (B) WUIYSH (C) favq dwd
TIRCGIERD 27 —

(A) TG (B) BTG (C) BRI
U1y Wqdh B —

(A) ey (B) WUIYSH (C) axuTd

The largest unit of ecosystem —

(A) Lithosphere (B) Biosphere (C) Troposphere
qIRRST T3 B A=l SHIS & —

(A) IeHS (B) Siig Al (C) & #sd
AFOCET JTG IFF T —

(A) Foraitea= (B) A= (C) Teoiitaa
aTRReIfd! T=HT ged Thlg §1 —

(A) RITHIS (B) SliaHvse (C) &rHTSd
Who first gave the idea of ecological pyramid?

(A) Elton (B) Odum (C) Ernst Haeckel
gRRerfde] fORIfe &1 R |dged feas faar 2

(A) Tee (B) 3frgw (C) e ¥t
AEIEs FPRIfe-aa gl 22w & o ¢

(A) &5 (B) €I (C) S &LFe
TRReI®] FORTAEHT e Fayed wdd [QUd 8 —
(A) e (B) 3frgw (C) e ¥t
Deforestation generally decreases —

(A) Global Warming (B) Drought (C) Soil erosion
g4l P Pels W AEAR W g oiidl & —

(A) Teltaer @i (B) @ (C) 8w
ST ALTS 2 T —

(A) ReSzre (B) =1 (C) Jfesr=y

T fIATerel AR 9T T —

(A) Tehee At (B) @ (C) &
Solid Waste Management includes —

(A) Collection (B) Disposal (C) Recycling
3 JURTE Jdg H FHIfIT 8 —

(A) °UrE (B) Fae™ (C) gdshoT
o T8 JIEE TGS 261 —

(A) k2T (B) S=RARe (C) A<=ta

(D) udd

(D) All of these
(D) 38 |
(D) 7Ref

(D) @t 5=

(D) Ionosphere
(D) 3T ASd
(D) SRR
(D) 3MIHvS
(D) Darwin
(D) sIfed

(D) ©RICE

(D) sIfed

(D) Rainfall
(D) @t

(D) =it

(D) @t

(D) All of these
(D) 38 |

(D) TRefrR

Turn Over



UG/CBCS/B.A./1st Sem./Environmental Studies/ AECCENVS/2022
'S BIgR Yged 3 gHIfde g6 —

(A) TISTE (B) fuer (C) gTdsHIT (D) SWRIH ¥4
38.  Sunderlal Bahuguna’s name is associated with which of the following —

(A) Narmada Bachao Andolan (B) Chipko Movement

(C) Silent Valley (D) Green Revolution

fr=faRad # A fhae ARl Gexeld 981 &I 7H ST g3l & —

(A) THET g TG (B) faua! 3rieTe=

(C) Wrgefe defl (D) R smifar

fferias @ iala A JFwzeier e N I 2

(A) 73l AfBhe SCwET (B) ool Siicwiee

(C) HZ=T e SeTieT (D) e [e

AN IgI DT A FfeiRad A& AT ARIgaT 8 —

(A) THST 99T =T (B) fauaT 3m=re

(C) ATSeie defl (D) eRashi~
39.  Development but not at the cost of environment is called —

(A) Sustainable development (B) Unsustainable development

(C) Non-sustainable development (D) None of these

TIPRT IR TITIROT B HHT R TSI DI HET ST & —

(A) Faq faer (B) 3rervfig e (C) IR fears faw (D) 399 & ®ig A=l
“SAfIRER O Al I GFAT - AT —

(A) o= Tae (B) ISR TS (C) SR T (D) IS 7

TIHTE TR TIERTD] JeIHAT BIST -alls A6 —

(A) Had f[aer (B) sReiig fqpr (C) iR-9aa fdewr (D) 1 U+ 8ig

40.  Which of the following is responsible for desertification?

(A) Deforestation (B) Mining (C) Overgrazing (D) All of these
ferforRad # & B9 AoRereliaRT & forg STRer © 2
(A) TF1 BT HT (B) @ (C) JAfa-aRA (D) 37H | 9
T @0 e T wid 9
(A) SRR (B) 49 (C) 7IeBiFe (D) =0
HORCIDHRYT GJAT FfeiRad | STRer & —
(A) g1 fa=mer (B) @i (C) 3rferarH (D) 31 <™

41. Green Revolution is associated with —
(A) Sericulture (B) Agriculture (C) Pisciculture (D) Silviculture
gRT wifa dafa g —
(A)W®M P U (B) Y (C) Aol uTemd (D) SiTe fasm=
i R - 63 AL TS —
(A) GIRRPITBIR (B) I (C) T FleTol (D) PreTfs Pletsix
BRA Pl FHERT B —
(A) WTHGRT Tre - (B) BfY (ORIEIICE] (D) SreTet-fasm
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42.

43.

44,

45.

46.

1121

What is produced by the fusion and fission of the nucleus?

(A) Hydroelectric (B) Thermal power

(C) Solar power (D) Nuclear power

qAE & 9 iR faEed ¥ a1 Iadrfed 8ar g 2

INERREES] (B) ardr ot

(C) |r ot (D) =AY Jll

EfEFIeR wRaem ¢ [ore b et w28 —

(A) TR (B) ©i#ifge (C) GTafRgre (D) =T Ruge
Samd] e ¥ EredrKe & Sdfed g6 ?

(A) 9T faega (B) ATdRI ot (C) |r ot (D) =AY Jll
Where are the genes of rare plants species stored —

(A) Gene bank (B) Gene library (C) Seed bank (D) None of these
g ISl & Uil @ S (Genes) &1 &8l ST IT 3HCol bl SIar © ?

(A) ST d® (B) ST QRAHBIAT (TSST)

(C) a1 d& (D) 379 & ®Ig TEl

et elenifon Bigrra Glmesfer (PIRRT FRalg 03 A 2 9

(A) == (B) f&re enizega

(C) = = (D) U7 (FICAIZ -

FEHIT: USTICrahT ST S (Genes) olg B8l YUSR RS ?

(A) ST dep S ISIRSIFEN

(C) 9ot I (D) ¥ TfY B

The efficiency of energy flow in the ecosystem is about —

(A) 1% (B) 3% (©) 5% (D) 10%
oTRReIfaaT T3 § ol & d8/@ § B B8Rl & —

(A) 1% (B) 3% (©) 5% (D) 10%
JRgOCEd P! fBAR *ifee@rz 9% —

(A) 5% (B) 9% (©) % (D) 0%
IRRIADT T=AT HolidhT 8EHT HH 576 —

(A) 1% (B) 3% (©) 5% (D) 10%
Which of the following is a biodiversity hot spot in India?

(A) Western Ghat (B) Nandadevi

(C) Eastern Ghat (D) Sunderban

fFr=faRad # | wRA &1 Slafafdedr g Wie ®IF a1 8 ?

(A) Ui e (B) a1 < (C) 7@ ®re (D) gaxa
fefeiRe @wb Sreaca Gt 26 =6 —

(A) *Fis (B) ==icet (C) 7 (D) T7w
Preferad el WRAdT - ‘Se-wife’ B 8 2

(A) Ul g1e (B) F=T<dl (C) gal =me (D) gaxed
Which of the following causes of COVID-19 —

(A) Bacteria (B) Virus (C) Protozoa (D) Fungi
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f=foRad & 9 @9 PIfds-19 &1 HROT 9497 © ?

(A) daiRar (B) 91IR¥ (ORICSIE (D) ®ad (B0
T D @ifsT-s5 -93 F179 9
(A) IJFCERA (B) ©iam (C) GNCBiTet (D) 2915
FfeRad 72 s Bifde-19 BT BRI g~ FIoq —
(A) JaRar (B) wTevd (C) wrersian (D) €31 (%)
47.  Which of the following is a secondary pollutant?
(A) PAN (B) SPM (C) SO, (D) NO;
Preferad ¥ & e uguor @ @ —
(A) PAN (B) SPM (C) SO, (D) NO;
e @I (e 77 2
(A) PAN (B) SPM (C) SO, (D) NO;
fFefoiad wear fgdia uguor g & —
(A) PAN (B) SPM (C) SO, (D) NO;
48.  Which of the following is an endemic species of India?
(A) Asiatic elephant (B) Lion-tailed macaque
(C) Whale (D) Panda
frrferRaa § | wRa @1 enfe gonfaai € —
(A) TRrarg el (B) 3R &I YBare "hIH
C) = (D) Uit
FEEe @0 SO GUehi (ZAR) 2eifs 9
(A) @ 2ifs (B) &TIAH-(525TC TIPS
(C) & (D) “fiest
FrfoRa #ed ARAST I USikigs 8 —
(A) TRl BTl (B) Rig®! qeor IUdl dgR
C) = (D) UT=sT
49. Full form of WWF —
(A) World Water Forum (B) World War Fund
(C) World Wide Fund for Nature (D) World Wildlife Fund
WWF &1 qof %0 —
(A) T8 d1ex BIRA (B) Ics IR Hvs
(C) I I8 B BiR =R (D) Tcs dTSes ARH Hre
WWE-@3 325 i f 9
(A) World Water Forum (B) World War Fund
(C) World Wide Fund for Nature (D) World Wildlife Fund
WWF &1 qof %0 —
(A) T8 d1ex BIRA (B) Ics IR Hvs
(C) Ics a8 Bre BR R (D) dcs dIScs g% B
50.  Scientific Study of the interactions of organisms with the physical environment is called —
(A) Ecosystem (B) Ecology (C) Environment (D) Trophic Structure
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Giford TGN & G127 Sildl ) Iid:Fhanstl &1 dsif<e NI heldl & —

(A) RRefd® a3 (B) uiRRefaat (C) TIiaxoT (D) Uit AT
2 € OlF (oT® AR B (@ 3iF ResIrTe SR 6 —
(A) IrESH (B) aragfmyi (C) =ifc==! (D) %3 910w
SHATI[RT STIThATd I eI TR i TATaROTATS H 8 —
(A) uRRefd® a1  (B) uiRRefaat (C) TIiaxoT (D) Ut AT
51.  Baba Amte and Medha Patkar is associated with which of the following movement —
(A) Narmada Bachao Andolan (B) Silent Valley Movement
(C) Chipko Movement (D) Bishnoi Movement
fFrfaRad # A {5 sficied | 9@ 3 3R Wl UIeahr ST & ?
(A) 9T ST STeTel (B) HTgeic dell Sfigred
(C) forma! arigrer™ (D) fa==1g erigre™
QR B =R Gl AR TS(eTRe (i SNCwieTis 7t I —
(A) 75l AfBhe SCwIET (B) AIZCETS Shifet SAwiE
(C) oot Sewiee (D) ficzsiz SicaieT
FfIRIT 1 JATRIAARIT JTaT AT 31 HET UTChRab] AH SSUDHT B —
(A) THST 99T =T (B) ATgel~e dell JMT=Te
(C) forma! sm<Ter™ (D) fo=1g 3m<Tete
52. Which of the following waste is the most dangerous and long-lasting?
(A) Bio-medical waste (B) Ash from Volcano
(C) Mining Waste (D) Nuclear waste
frrfeiRad § 9§99 @axa1a &k 98d QA1 d& W& arerr mufdie & —
(A) IS HS AT IRUATA BT Hax] (B) ST X1
(C) @M 3R (D) URATY] (IR
0 (1w 77 Roieees @ A= 9
(A) o1 FofFesiae Te] U RIDIEERE
(C) 4fve 757 (D) AR 50
FrfoRa Fav=aT Wax1d M SR A IgTda JURIE (BIER) B —
(A) IHS®H Ud IRTATADT Hell (B) AT ORI
(C) @HIPT BIER (D) URHTY] Y
53.  The major objective of family welfare programmes in India is —
(A) Disease control (B) Employment generation
(C) Population growth rate control (D) None of these
IRA H IRIR HeuTor wrdmd o §eg fafdredr g —
(A) IAT f=oT (B) ISR Ic4TEH
(C) SHT gig &) fFriaor (D) §7H | @13 &l
ST #IfFAIF Feriel eFC Y2 SrHl ToT —
(A) Gt fraet (B) F50rE 92
(C) TR AN Jieg 2 ferzrae (D) IS
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54.

55.

56.

57.
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HRTHAT URAR B0 BIIHHBT & faRI9dT g —

(A) IAT f =01 (B) ISHTR IT4TEH

(©) ST g R P (D) g of B

Full form of WHO is —

(A) World Human Organization (B) Women Health Organization

(C) World Harmonic Organization (D) World Health Organization

WHO T qof &9 & —

(A) T AT SRITATZOIEH (B) T e SIRIATZOIRH

(C) ce BRHIMG IRIATZOIeH (D) TS T IARHZOIRH

WHO-97 35 915 5 —

(A) World Human Organization (B) Women Health Organization

(C) World Harmonic Organization (D) World Health Organization

WHO &1 gUT %Y &I —

(A) T AT TGO (B) T e 3FIATS ORI

(C) gcs ERAIMG TSI (D) IS BRI TSI

The complex network of interconnected food chains is called —

(A) Food Web (B) Food Network (C) Trophic levels (D) Food pyramid
AIGT $RISAT BT IRER SACe ATl HBARI & —

(A) BE 99 (B) ®S cdd (C) difieadr =R (D) @y fRifds
GO SN2 TS Toe TN I T —

(A) AW STl (B) dw FRC4 (C) ~fEw= (D) 2wy f2ifre
el HSEATDH] IR SIcld Aol Ao —

(A) B 9 (B) BS -cdd (C) gfue civrel (D) g foRifrs
Ear muffs or Cotton plugs are used to reduce pollution of —

(A) Air (B) Nuclear (C) Noise (D) Thermal
B HE AT BT I BT GANT AT ST & YUl HH PRA b o] —

(A) a1 (B) e (C) eaf (D) it
FICTR e Al Ao 2atefer @Fid w3 afocaie Jazs 2 ¢

(A) I (B) “fi=srieif<zs (C) *n (D) 9

B A X HUTH DT AN 1741 YU HH T il TR —

(A) a1 (B) a1 (C) eaf (D) it
Matter must be recycled again and again by an ecological process called —

(A) Ecological pyramid (B) Ecological Succession

(C) Biogeochemical cycle (D) Energy flow

TRReIfd Ufohar GaRT IR-IR GAAAIIGRUT fhar ST =nfey Ry del ST 8 —
INRIEGIIGERENIES] (B) utiRRerfres 3rgshH

(C) SII-Y-I™AR® <eh (D) Soll ya1g

GRS #Iwod AR (I #ILS I AR 22 TS LSANE 06T —

(A) IeifEs Prite (B) AEeifEF awife sifaes

(C) &R ©-APNA(F br (D) *Ifeaarg
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58.

59.

60.

61.
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qRReIfT UfhagRT gRER AdIdHRo TRY aRally 9o —

(A) TIRRerfi® RIS (B) utiRReifres 3rgshd

(C) SI9-Y-ITARATh-Aeh (D) Soll ya1g

‘Agenda-21’ is related with —

(A) Earth Summit (B) Montreal Protocol

(C) Kyoto Protocol (D) Johannesburg Declaration

goiel 21 Hefdd © —

(A) IRTH RRIR A=A (B) Hiftgaal Uieidbia

(C) FIel YIeidid (D) ST EyorT

‘Agenda-21’ < A% oS —

(A) PTHA ACHTT (B) WG C2ACGFe

(C) TN cABIT= (D) (SRICTRI @Ieltoig

TOISl 217 T B —

(A) IRTH RRIR A=A (B) Aifvg T UIeidhe

(C) FIel reidhd (D) ST EyorT

Largest Dam in India is —

(A) Hirakud (B) Tehri

(C) Sardar Sarovar (D) Bhakra-Nangal

IRT & faemerds afr & —

(A) IR (B) e

(C) 9RGR WRIR (D) REST-+Tet

SI0eH J28W A4 T —

(A) Zigw (B) coz

(C) W1 HARE (D) SiF-=EIe

YRDT gEod dfe g —

(A) ERTH~< (B) fegd (C) 9RGR WRIR (D) REST-ATet
The first International Environmental Conference was held at —

(A) New Delhi (B) New York (C) Japan (D) Stockholm
ToIH IS 1T GATIRT ARl Jarford faear T o —

(A) 73 feeeh (B) =@t (C) ST (D) RTHEr
2l “IfF R Sesifos Feaerw” SePe ke —

(A) fE s (B) e &= (C) =i (D) BRI
ToIH 3RS 1T GATGRUT A JATford TRYGT & r —

(A) AT feeel (B) =i (C) U™ (D) IcTHad
Lignite, bituminous and anthracite are different types of —

(A) Nuclear fuel (B) Coal (C) Natural gas (D) Biogas
forrge, fagfms iR Tovse fafi=t yoR § —

(A) TRHT] e (B) ®IIT (C) Ui 4 () EIRIUES]
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19125, RpTaeT Q3R Smweies 261 [fod @ —

(A) 2R Glenal  (B) I (C) &l i (D) JICIH
foreTge, e aif TokiIse A= UsR®T g9 —
(A) TRATY i (B) PgeT (C) Tl =g (D) arivar
62.  Zone consisting air, water and soil is known as —
(A) Hydrosphere (B) Atmosphere
(C) Lithosphere (D) Biosphere
Y, T AR fAeraret &3 &I HeT oKl © —
(A) STeHSd (B) argHse
(C) rctHsd (D) S A
g, Te @k WS e 9ifos wes @i #ififoe —
(A) TR (B) IR
(C) foraiitram (D) GRNes
IR, ST A AT AUHT &3y T —
(A) STeTHvSe (B) argAvSe
(C) TretHvsd (D) STaqvS e
63.  Full form of CNG is —
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
CNG &I gof &9 & —
(A) ®FF A3 T (B) $RRS =R N
(C) DA TR I (D) AETHIgS "oRa
CNG-&3 7ol —
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
CNG T qof &9 & —
(A) HHT TG T (B) HITSS "aRd 7O
(C) HH9 TaRel I (D) AEBIgS doRd T
64.  Plants are green because of the presence of a pigment called —
(A) Glucose (B) Nitrogen (C) Chlorophyll (D) Oxygen

T &R VT B 8ld & Hife I8 guie @1 SuRRerfy gt & —

(A) ITBHRT (B) IEC IS (C) FRIfhet (D) 3ATATST

M TS 2T T ——— I G163 TR —

(A) S (B) FECEICS (C) @IEAfFs (D) SIf3E=

IEME ERAT [MDI T HRYT [ITAT JGIDBT YA SURT §6 —

(A) TIPS (B) TrEgToT (C) TR (D) TRATSTT

65.  Which of the following problems is not created by noise pollution?

(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation

f=ferRaa # 94 o9 & IRaT eafy gguer & FHRr T8 Bt 8 2

(A) T (B) S=d a4y (C) g&x9+ (D) g
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o7 I, P11 =i et il 972 22 1 9

(A) Tt (B) &% T&b171 (C) ezt (D) Tt
F=feRad ganie Tl el UguoIdhl BRI gad —
(A) TITAT (B) S=a &A™ (C) IfRI= (D) frsfirsrge
66.  The group of organisms which convert light into food are called —
(A) Autotrophs (B) Heterotrophs (C) Decomposers (D) Omnivores
Sal & g S UBTRT Bl Ao # uRafidd wrd €, FEa € —
(A) ISR (B) favq dmwd (C) Iyec®H (D) Haler!
@ AR G Wl SIS A Feolieiee 0 SIos 0 —
(A) SIHIETH (B) (RCBICAGTA (C) *fbertey (D) Res
SIS dT HE STHel IHIRITS @Te wUAT YR 68, SHdly Ao —
(A) TUTYH (B) favq dmwd (C) IecdH (D) Haler!
67. Carrier of Dengue disease is —
(A) Aedes Mosquito (B) Culex Mosquito
(C) Housefly (D) Anopheles Mosquito
ST I BT AESH & —
(A) TSIST HeBR (B) RIeTad FTER (C) ARAT (D) TAThelST HesR
(O (1051 AT —
(A) @f%s it (B) S sl (C) AT (D) SiCeIfRefeTt il
ST ST AED T -
(A) TSIT 7B (B) Fgeia AgR (C) Fhm (D) TAIfthfera #eav
68. Sustainable development goals have specific targets to be achieved by —
(A) 2022 (B) 2030 (C) 2040 (D) 2050
Fad faer deat & urd R & foy de 7 —
(A) 2022 (B) 2030 (C) 2040 (D) 2050
(5312 T STRTIG] SIS (E ey fol{H SFIIg 0% —
(A) R01% (B) 090 (C)R080 (D) R0¢o0
o faer urd THaT e difbual deg —
(A) 2022 (B) 2030 (C) 2040 (D) 2050
69.  Which of the following is not a natural hazard?
(A) Wildfire (B) Lightning
(C) Landslide (D) Chemical contamination
fr=faRed # 9@ o9 a1 wefis @awr T8 8 2
(A) ST 1 31T (B) fastell AT (C) Y-=geT (D) AT T
53 e 9616 eigfoss Rerfa ¢
(A) RIS (B) 3g7l® (C) ghie™ (D) AR 79l
fFr=feRad 72 a1l Ui WART BIg —
(A) STFTAd! A (B) fAgell @by (C) el (D) XTI guoT
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70.  In case of a parasitic food chain, the shape of the pyramid of number is always —
(A) Upright (B) Linear (C) Inverted (D) Not Certain
RG] @Tel el & Aol § G & [ORIHS T I 89l R8dl 8 —

(A) e (B) XRa& (C) Jeer (D) arffe=ra
Qo ARG AMHRIETR (HCT 93 T FRAF Praifie somm 21 —

(A) el (B) @& (C) THieat (D) Wio®
RGNS e ST ORI e ASTATD! ATBR Fad g1 T8 —

(A) TSI (¥re) (B) XRge (C) St (D) i

71.  What percent of area in the plain should be under forest?

(A) 21% (B) 25% (©) 17% (D) 33%
I |RT BT fha1 Ui SivTel 81 =1f2g ?

(A) 21% (B) 25% (©) 17% (D) 33%
FAG(ET F© *OR] GaTIF] ITEHH(TH SR A TH 2

(A) 5% (B) 2¢% (C)»a% (D) ©99%
JTIRTST Hid YRR ST §JUS ?

(A) 21% (B) 25% (©) 17% (D) 33%

72.  What does the high Biochemical Oxygen Demand (BOD) indicates —

(A) High level of microbial pollution (B) Low level of microbial pollution
(C) Absence of microbial pollution (D) Water is fully pure
I o9 IS Sifaio= (BOD) @1 AT 9T SR &l © 2
(A) FTSHITTA TG BT Iod TR (B) AISHITS UGy &I 4 ®R
(C) wrEspIfaT UguoT b1 rguferf (D) urfl QUieT: g
T (&< AP SRR (BOD) SifEw o g —
(A) BRI TR T (B) MErerifRne wace e
(C) MEFIRAE wace wgifEfs (D) Tt 35y R
I S IREEE G (BOD) &1 AW & Hdbd T6 —
(A) FTSHITAA IGYUTHT Joa WK (B) AIEHIST UgyUTeh] i wIR
(C) TrEspIfaTe UgyoTeT SrgaRRerd (D) urfl QUi g
73. Cultural environment refers to —
(A) Mountains (B) Man-made environment
(C) Wild environment (D) Marine environment
ARpfads gafaRer & Hefia & —
(A) TeTS (B) ws ¥ oarfemor
(C) a9 yafaror (D) |HA! agTaRoT
AcFfoF AR w00 @I —
INEG Ll (B) S-8 e
(C) 3 il (D) Afuz e
AT AR G B —
(A) TddE® (B) #a ffHa qafaror
(C) a9 yafaror (D) |HA! UgTERoT
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74.

75.

76.

77.
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The atmospheric layer from earth’s surface to 18 km is known as —

(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Ionosphere
gedl & Fag A 18 fho Ho T F1 IYHSANI TRA FEAR & —

(A) & A (B) §H9AI9 Hed (C) 7eg #Hsal (D) 3 Al
b ¥ »1fe e armesit =l ~ffbe =1 —

(A) Teotea= (B) Zicsiria (C) A= (D) SRCAF=

Y] Fdsayg 18 fho o FHGT dRAvSHI dEclls W8 —

(A) & AvSe (B) AT #USA
The salinization can be defined as —
(A) Accumulation of Salts in the body

(C) Accumulation of Salts in animals

(C) 7 HUs (D) I HUS

(B) Accumulation of Salts in water
(D) Accumulation of Salts in the soil

TINHENOT b wU H qIRIINT fohar ST AT & —

(A) IRR H TG BT STH] BT

(C) SITari ¥ TH9F BT STH B
FREATSFANE TSI TGN Tl @CS A1 —
(A) *RNE #R_e & (B) &(#1 oRe &
AGUIHROTRT HIAT YRATNT TRD —

(A) TRIRAT T S 8]

(C) UIEHAT T ST §F

The uses of CFC are —

(A) Insulators

(B) Uil § THD BT STH B
(D) et % 9@ &1 ST B

(C) &R & &9 el (D) e #11el S

(B) UTFIHT 1 ST &3
(D) Hrem™r J7 S §g

(B) Aerosol propellants

(C) Refrigerants (D) All of these

CFC & QU & —

(A) $eleR (B) RN vl (C) XfhoiRe (D) 38 9
CFC-a9 € 251 —

(A) S (B) SHIEPTE @IS (C) RRFSIES (D) ¥R
CFC &T SUINT 6 —

(A) $eleR (B) WMl Wolied  (C) Xfhoe (D) SIRKRH e

CPCB Stands for —

(A) Control Pollution Control Board
(C) Control Pollution Central Board
CPCB &I Aded & —

(A) DI USRI HIet arS

(C) Pt dieger Hgdl aIe

CPCB ¥t —

(A) Control Pollution Control Board
(C) Control Pollution Central Board
CPCB &7 31ef g —

(A) DIl Gegdd drglc EIS]

(C) Fgid e Ao e

19

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) ¥gd Uleqe dAgd dars
(D) ¥gd Ulege™ deldd dls
(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) ¥ d UegHT ool drs

(D) A= UgEd Hoidd dIs
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78.

79.

80.
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Which of these is the most naturally occuring and frequent disaster?

(A) Tsunami (B) Draught (C) Earthquake (D) Flood
S8 W DI AeW WYIAH w9 F B9 dTell 3R IR-gR 819 dTeil 3UaT & ?

(A) T (B) g (©) qP™ (D) a15
QTR T (@I FRGR AFFoFol 9foe @3 7w 7= oo —

(A) T30 (B) <l (C) g™t (D) T

A 7y frars WMIde wuHT JAid aRaR g TIRST ATET g —

(A) T (B) Tsd (C) g™ (D) aret
Which of the following is the largest source of water pollution in major rivers of India?
(A) Untreated sewage (B) Agriculture run-off

(C) Unregulated Small-scale industries (D) Religious practices
fr=faRad # 9 B9 9RA & UgE Al § S UguIT & Hed 99T 9Id © ?

(A) IFIART A (B) $Y 3yars

(C) AT oy SeRT (D) enfie It

0% @G ST 2y TR SeTmaeR FRE TC B8 —

(A) SRR 2118 fosmia (B) I A9-=1

(C) wIfvafEs T W (D) 45 STepAteTel

FrfaRad Ae s IRADT U Talewd ST UgUUTh] AaH=aT d4! Aid B8 —
(A) IFIART A (B) $Y 3yars

(C) AT oy et (D) e1f¥d YuTE®H

The source/origin of Narmada river is —

(A) Amarnath (B) Kolkata (C) Kerala (D) Amarkantak.
THET ALY BT WA /I & —

(A) TRATT (B) PIABIAT (C) IR (D) 3FR&HTH
Tt e B / Teolfene

(A) ST (B) Feirel (C) A= (D) SEFHGP
THRT AP AT/ ITH & —

(A) TRATT (B) PIABIAT (C) IR (D) 3FR&HTH

X
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